KKO nr A

Al (splx) = B B

A2 (splx) = B B

Komutator

(0+A3+A4+SB) — 0 = A3+A4+SB = A3+A4+B3+B4

-

Mostek

konf.

Cisza (0)

>

- (0+A3+A4+SB) — A3 = A4+SB = A4+B3+B4
A3 (dplx) g - >

é (0+A3+A4+SB) — A4 = A3+SB = A3+B3+B4
A4 (dplx) - ~

(0+A3+A4+SB) - SB= A3+Ad4 = SA

SB (zawsze duplex) >

KKO nr B

Komutator

B1 (splx) = -
B BE—

B2 (splx) = -

(0+B3+B4+SA) — 0 = B3+B4+SA = B3+B4+A3+A4

Cisza (0) >

. (0+B3+B4+SA) — B3 = B4+SA = B4+A3+A4
B3 (dplx) g - ~

cl (0+B3+B4+SA) — B4 = B3+SA = B3+A3+A4
B4 (dplx) -4 >

(0+B3+B4+SA) - SA =B3+B4 =SB

Mostek
konf.

SA (zawsze duplex) >

SA=A3+A4

CENTRALA MDI110

SB=B3+B4




